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Question No. 1
Evaluate: 2 tan? 45° + cos? 30° - sin? 60°
A)1/2 B)2
C)o D)1

& AT 2 tan? 45° + cos? 30° - sin? 60°

A)112 B)2
C)0 D)1
Answer Key : B Your Response : B (Correct)

Question No. 2
Find the LCM of 2.05, 1.05 and 2.
A)LCM of 205/100, 105/100 and 200/100 B)LCM of 205, 105 and 200/10
C)LCM of 21/20, 41/20 and 20/20 D)LCM of 205, 105 and 200

2.05, 1.05, 2 T A.H.I(LCM) 1 & FaSF ST &2
A)205/100, 105/100 3 200/100 & &.4.9(LCM) B)205, 105 3R 200/10 & &.4.9(LCM)
C)21/20, 41/20 3R 20/20 &7 A.G.9(LCM) D)205, 105 3k 200 & .@.9(LCM)

Answer Key : A Your Response : A (Correct)

Question No. 3

Ultrasound is used to detect in metal blocks.

A)Cracks and flaws B)Metal opacity

C)Metal heat D)Metal heaviness

T Seliepl AW T 9T ol & fAT egIss & 39T R S g

A)EIRT 3R gt B)eITq T ARG

C)errg &1 Zar D)&rq & et

Answer Key : A Your Response : A (Correct)

Question No. 4

Which classical dance form is indigenous to Kerala?

A)Kathakali B)Kuchipudi

C)Kathak D)Bharatanatyam

I H et T AT oI MROT 2

A)Herelr B)Fdger

C)hds D)sRdaTcaH

Answer Key : A Your Response : A (Correct)

Question No. 5

In a certain code language 'no more food' is written as 'ta ka da', 'more than that' is written as 'sa pa ka'. How
ic Yhat' wriHanintd I—I'E...g [




C)saor pa D)ta or da

ey fAREa e & 'no more food' I 'ta ka da' far@r ST &, 'more than that' &I 'sa pa ka' for@r sirar
T 38 Femr & ‘that' H FH for@r sweam?

A)da B)ka
C)sa a1 pa D)ta a1 da
Answer Key : C Your Response : C (Correct)

Question No. 6
In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) No magazine is cap.
2) All caps are cameras.

Conclusions:

I. No camera is magazine.

Il. Some cameras are magazines

A)Either conclusion | or Il follows B)Only conclusion | follows

C)Only conclusion Il follows D)Both conclusions | and Il follow

39 e #H, o FyEl & oG A fAshy R v §) 3w fased (3i) A 9o o aifde w7 & wed 39gT &

hHeT;
1) #rg af¥er dr 76t 8

2) T odr F &

oy
. IS FFRT gfHT S B

II. F& HAY IEH
Ayar dr fsss | ar ar il 39ged Bl B)&ael fosehy | 3uged g
C)ahaer sy || 39T Bl D)alet fsshy | 3R 1l 39gera €

Answer Key : A Your Response : C (Wrong)

Question No. 7
The diameter of a circular wheel is 1.4 m. How many revolutions will it make in travelling 22 km?
A)5000 B)500
C)2500 D)2000

T el 9fe0 & o0 1.4 X §1 22 felr ff amr F 38 fraey a9 g@eT gem?
A)5000 _ B)500

= p———., e AN e S Al | =y | T




Answer Key : A

What is the full form of NABARD?

A)National Bank for Agriculiure and RegionalB)National Bank for Agriculture

Development

Your Response : A (Correct)

Question No. 8

Development

Rural

C)National Bank for Agriculture and Rural Department D)National Bank for Agriculture and Regional

NABARD T qof &7 &7 §?

AT §F BR TfiheR U3 Jsteial 3gaveic

C)aereTel doF B Tafidheek U Weor f3urdde

Answer Key : B

Krishnadevaraya was the ruler of
A)Chola
C)Chera

FOIET AT F AEH I
A)direr

C)=R

Answer Key : D

Find the ODD one out from the given options.

A)18 - 45
C)23 - 14

fow a1 Rsmedt & § rdera F Gl
A)18 - 45
C)23 - 14

Answer Key : D

Onion and garlic are examples of-
A)Corm
C)Bulb

e 3R EgT & 3aTeor gl
A) geTehe
C)&g

Answer Key : C

Department

B)=12leTel §h IR Tillhot} US Wl 3TIIdC

D)=1eeTel §h B Tiflheok U {Iofeial fBurdse

Your Response : A (Wrong)

Question No. 9

empire.

B)Pandya
D)Vijayanagar

Your Response : D (Correct)

Question No. 10

B)36 - 27
D)29 - 82

B)36 - 27
D)29 - 82

Your Response : D (Correct)

Question No. 11

B)Rhizome
D)Stem tuber

B)Uehe
D)TdH &g
Your Response : Not Answered

Question No. 12

By using a windmill, which energy is tapped to rotate wind turbines to drive generators?

A)The sound energy of wind

C)The kinetic enerm s

B)The heat energy of wind

- ' /— el e
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qaeTeeRhl T IUAIT FF, TaeT HaTSall H GARR Seled Tollel F AT e Feit &1 gget B S 82

A)gaa $r eafa Felr B)UdsT &7 IHRT Fall
C)afadae qaeT $r afast Far D)uael i IS Folr
Answer Key : C Your Response : C (Correct)

Question No. 13

A pendulum of length 'I' swings through an angle of 45° and describes an arc of length 15.4 cm. Find the

value of 'I'.
A)19.6 cm B)22.2 cm
C)18.4 cm D)20.6 cm

T SIS T T GgeT 45° & 0T W &l Fl g 3N 15.4 WY S F CF GG ST § | T FOAW AT
fafaw|

A)19.6 T B)22.2 @Y
C)18.4 J#Y D)20.6 {T
Answer Key : A Your Response : B (Wrong)

Question No. 14
If 138.019 + 341.981 - 146.395 = 133.605 + a, find the value of 'a'.
A)120.085 B)200
C)248 D)295.5

Ifg 138.019 + 341.981 - 146.395 = 133.605 + a gI, € 'a' & AT AT HIAT]

A)120.085 B)200
C)248 D)295.5
Answer Key : B Your Response : B (Correct)

Question No. 15

As the pH value increases from 7 to 14, it represents

A)Both acidic and neutral solution B)Acidic solution

C)Neutral solution D)Basic solution

pH A 7 & sgY 14 & 1T §, I8 T gifer Bl

A)FFT 3R 3erdie [aeae aar B) 3ol faeraeT

C)3erde faerae D) faerast

Answer Key : D Your Response : D (Correct)

Question No. 16
A man goes towards east 5 km, then he takes 120 degrees right turn and goes 5 km. He again takes 120
degrees right turn and goes 5 km. With respect to the starting point, where is he now?
A)East B)At the starting point
C)North east D)West

T IMeHT qF $ iR 5 Rl ST &, A aw 120 B a1 3R Fsew 5 fer e §1 9 R & 120 B o
3R Fzar § AR 5 Pl ST ¥1 IR Rig & ane, 98 3 w6l 82

AT B)YRFe foig o

C)3ceRk yd D\ufPea

O p——— P e 5 B (N P e Moy =y | T




Find the missing number in the series.

49, 64, (...), 100, 121
A)72
C)81

R Aol 3 IRy HEar T AR

49, 64, (...), 100, 121
A)72

C)81

Answer Key : C

What is the sum of all two-digit numbers < 50?
A)1230
C)1330

ar 3@l i gelr HE&Ar < 50 F AT AT W
A)1230

C)1330

Answer Key : A

Question No. 17

B)92
D)88

Your Response : C (Correct)

Question No. 18

B)1250
D)1350

B) 1250
D)1350

Your Response : A (Correct)

Question No. 19

In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best

fit(s) logically.

Statements :
1) All grasses are trees.
2) No tree is shrub.

Conclusions:

I. No grass is shrub.

Il. Some shrubs are grasses.
A)Both conclusions | and Il follow

C)Only conclusion Il follows

B)Neither conclusion | nor Il follows

D)Only conclusion | follows



3 WA A, & FYEl & a1g & sy Re aw §1 37 Tewd (3ff) F g S aifer § F w9 39T @

Y :
1) gefr a9, a7 8

2) F5 gaT SIS TG T

IGLED B
. PE =T L AL B

Il. T gfsat wr §

A)erT fasey | 3R 1l 3ugeEd gl
C)hael fasehy Il 3ugerd gl D)dhael fasehy | 3uged &
Answer Key : D Your Response : D (Correct)

Question No. 20

Choose from the alternatives the figure that best completes the

pattern given below.
o ? °
® @
O XO
o\ o\/@®
O XO T OA O
® @
A) B) —
o) O S ]
&/ \%
C) D)
L ® (J

Hl

A) B)

B)al af forsehy | o7 &1 Il 39ged &




C) D)
] @

&/

Answer Key : D Your Response : D (Correct)

Question No. 21
Aroom is 15 ft long and 12 ft broad. A mat has to be placed on the floor of this room leaving 1.5 ft space from
the walls. What will be the cost of the mat at the rate of Rs.3.50 per square feet?
A)Rs.472.50 B)Rs.496
C)Rs.630 D)Rs.378

T HAU 15 e e r 3R 12 e =i &1 dert ¥ 1.5 A fir PE BE FA F 7Y W tF A Nomr
ST &1 %.3.50 9fa @o e fir e F A fir daPd Fder geii?

A)T.472.50 B)%.496
C)%.630 D)%.378
Answer Key : D Your Response : B (Wrong)

Question No. 22

If 'x' means '+, = means 'x’, '+' means '+' and '+' means ', then 3-15+16x8+6="7
A)41 B)47
C)35 D)30

I 'x' & AT '+ ¥, VW AqeEx' §, '+ H Aqed + HRH FT AGAT W §, A 3-15+ 16 x 8 + 6 =
?

A)41 B)47
C)35 D)30
Answer Key : A Your Response : A (Correct)

Question No. 23
If an item is sold for Rs.8000 at 25% profit, then find the profit.
A)Rs.1800 B)Rs.1200
C)Rs.1600 D)Rs.1000

IfE F§ aFG 25% T W %.8000 F I S §, A AT A Ao

A)%.1800 B)%.1200
C)%.1600 D)%.1000
Answer Key : C Your Response : C (Correct)

Question No. 24

The general formula of alkynes is-

A)CnHZn-Z B)CnH2n+4
C)CnHan+2 D)CnH2n
Towhlg FT AHAT T 4T 82

A) CnHon-2 B) CnHan+4

C)CnH2n+2 D)CnHZn

- p—— P P G A (e s s MOy (R =) | T




Question No. 25
Which is the planet in the solar system which is nearest to the Sun?
A)Mercury B)Mars
C)Venus D)Earth

Hi#Hser F HieT A A5 I F GO TorarF o7

ATy B)#FeTer
O D)gh
Answer Key : A Your Response : A (Correct)

Question No. 26
Who suggested the four main groups of human blood in 1890?
A)Karl Landsteiner B)Chadwick
C)Louis Pasteur D)Ronald Ross

gTH ¥ fREe 1890 H AT Tod & IR ATT THGI & SR H Frar?

A)FTel ST B)dsfas
C)dS U D)=TTes JId
Answer Key : A Your Response : A (Correct)

Question No. 27

One Coulomb of electric charge per second is-

A)1 Ampere B)1 Volt

C)1 Joule D)1 Second

s ¥9s wF Foea Regd amaw g &l

A)1 lyr=-ricy B)1 glec

C)1 5 D)1 T3

Answer Key : A Your Response : A (Correct)

Question No. 28
Which of the following are known as 'nucleons?'
A)Protons and electrons B)Only protons
C)Protons and neutrons D)Neutrons and electrons

faf@a & ¥ B 'gFsie § ¥ 7§ S s §2

Aysieia 3R sewei B)¥ae Wt
CysiehT AT =gt D)eei A gorleT
Answer Key : C Your Response : C (Correct)

Question No. 29
With the market price coming down by 25%, Sita is able to procure 1 kg of sugar more for Rs.30. What is the
original price of sugar?
A)Rs.7.30 B)Rs.7.50
C)Rs.10 D)Rs.16.50

TeIR Aeg # 25 A Tl o aredfae AeL

|
ik



A)%.7.30 B)%.7.50

C)®.10 D)%.16.50

Answer Key : C Your Response : C (Correct)
Question No. 30

The main structural material of hair is -

A)Thiamine B)Keratin

C)Biotin D)Vitamin

__, S& AT WEecHs 9o gl

A) R B) &It

C)araifeat D)frerfer

Answer Key : B Your Response : B (Correct)

Question No. 31
Which formula gives the refractive index of second medium with respect to the first?
A)sinixsinr B)sini-sinr

C)sini/sinr D)sini+sinr

HleT A T Tgt & T F gEY AEYH HT HYGeeAieh el 87

A)sin i x sin r B)sin i - sinr
C)sini/sinr D)sin i + sin r
Answer Key : C Your Response : C (Correct)

Question No. 32
The notation (g) is used in the chemical equation to represent the particular element or compound in-
A)Aqueous B)Gaseous state
C)Liquid state D)Solid state

ey Terafaes wHiERor 3 FFarR (g) w1 3w R smer 7 dAvg Rl Ry aa ar Gt @ wefifa
e & v fFar smar 82

A)STelIT 37aeT B)3 3rawar
C)ga 3raear D)are 3ferear
Answer Key : B Your Response : B (Correct)

Question No. 33

Ascorbic acid is known as-

A)Vitamin B B)Vitamin D

C)Vitamin A D)Vitamin C

e TS & AT ¥ 8 S S g

A)faerf@s B B)ferfd=r D

C)qafa=s A D)fderfaa C

Answer Key : D Your Response : D (Correct)

Question No. 34

Ten years ago, a mother was thrice as old as her son. After 10 years, she will be twice as old as her son.

What is the ratio of T ] —



C)3:2 D)4 :3

& ¥ Ug, TF Al A WY 30F & A et T A 10 9§ g, 3 g AT A 3y F R @ e

3o GAAIT Y FH AT A1l AT

AT : 4 B)7 : 3

C)3 : 2 D)4 : 3

Answer Key : B Your Response : B (Correct)

Question No. 35

Choose the figure that best represents the relationship among the
classes given below.
Photography, Time, History, Theatre

A) B)

C) D)

3H HEIa & 994 &Y, & FEaaea AR & fiT F OHEw @
Tafead &7 & fasfod T 2l
BIEEmh, gAY, siogw, FTE

A) B)
Q) D)
Answer Key : C Your Response : A (Wrong)

Question No. 36
Simplify: 30 x 3 x 0.3 x 0.03 x 0.003
A)0.0000243 B)0.000081
C)0.00243 D)0.002403

I HfST: 30 x 3 x 0.3 x 0.03 x 0.003
A)0.0000243 B)0.000081
€)0.00243




Question No. 37
For a particular sum at a certain rate, find the ratio of Simple Interest got for 4 years and 8 years.
AY1:4 B)2:3
C)2:1 D)1:2

T fARed & o Rl Ry ofr & fAw, 4 af sic 8 a¥ & wruRvr surSl F U Ad fifewl

A1 ;4 B)2 : 3
C)2 : 1 D)1 : 2
Answer Key : D Your Response : D (Correct)

Question No. 38
Three taps P, Q and R are filled in a water tank to draw out water. Tap P fills 4 buckets in 24 minutes, Q fills 8
buckets in 1 hour and R fills 2 buckets in 20 minutes. All the taps are opened and the tank is emptied in 2
hours. If a bucket holds 10 litres of water, what is the capacity of the tank?
A)180 litres B)240 litres
C)480 litres D)200 litres

TS g Fr Ehr F el Fes F QT O 79 P, Q 3R R onw 3w §) 57 P, 24 A 7 4 So6r 1T §;
A Q, 1 86 & 8 T1ed) ST ¢ 3 AT R, 20 et & 2 I8y Rar &1 Tt e W few s & 3R &F 2
e 7 @rell g onar &1 I v aredy # 10 Wl el 3er §, a & fr siar wna fifew|

A)180 oiex B)240 ofrex
C)480 e D)200 e
Answer Key : C Your Response : Not Answered

Question No. 39
With which of the following sports is Viswanathan Anand associated?
A)Chess B)Polo
C)Golf D)Billiards

T 3eig Pefaf@d & ¥ 9 @ ¥ geftg §2

A) TSt B)drar
C)aitets D)fsforrs
Answer Key : A Your Response : A (Correct)

Question No. 40
LCM of two numbers 'p' and 'q' is 935 and (p>q). What is the maximum sum of the digits of 'q' out of the
possible pairs 'p', 'q'?
A)13 B)8
C)5 D)20

ar &t 'p' 3R 'q T AHI(LCM), 935 § 3R (p>q) B WA FIA, P!, 'q' F & 'q & 3H AR
QT AT A

A)13 B)8
C)5 D)20
Answer Key : A Your Response : Not Answered

I Question No, 41
_etemn 73 B e e GAMNDEIWT RIS A



D is a point on BC of AABC where BD = (1/2)DC. Find the
ratio of areas of AABD and AABC.

A) B)

]
o
V]
—

C) D)

D, f33fsT ABC I 3= BC W f¥ra v U T&g 7, =8l
BD = (1/2)DC| T¥3fsT ABD 31X 35T ABC & &i5thell I
I AT FifST

A) B)
2:3 3:1
) D)
3:2 1:3
Answer Key : D Your Response : D (Correct)

Question No. 42
If 'nitco sco tingo' stands for 'softer than flower', 'tingo rho mst' stands for 'sweeter flower fragrance' and 'mst
sco tmp' stands for 'sweeter than smile' what would 'softer’ stand for?
A)mst B)tingo
C)sco D)nitco

gf& 'nitco sco tingo' F AT 'softer than flower &, 'tingo rho mst' & AAYRT 'sweeter flower fragrance'
3 'mst sco tmp' FT JTRWA 'sweeter than smile' &, 'softer' & 3IAURr fFady 82

A)mst B)tingo
C)sco D)nitco
Answer Key : D Your Response : D (Correct)

Question No. 43

Find the wrong number in the following series.

133, 119, 107, 91, 77
A)119

- p—— P P G A (e P s MUy (T = T



Aeafaf@a Soft & e g AT fifew)

133, 119, 107, 91, 77

A)119 B)91
C)133 D)107
Answer Key : D Your Response : Not Answered

Question No. 44
With which sport is the term 'deuce’ associated?
A)Polo B)Cricket
C)Basketball D)Tennis

T s B B & w82

A)aralr B)fohehe
C)SrEeheaTe Dyt
Answer Key : D Your Response : D (Correct)

Question No. 45
If a certain sum becomes Rs.20720 in 4 years and Rs.24080 in 6 years, find the sum and rate of Simple
Interest.
A)Rs.14000, 12% B)Rs.16000, 12%
C)Rs.16000, 8% D)Rs.14000, 10%

I P TR 4 ant F 5.20720 31T 6 anf F $.24080 & Sch &, A g IR 3K AR AT f | AT
HifaTl

A)%.14000, 12% B)%.16000, 12%
C)%.16000, 8% D)%.14000, 10%
Answer Key : A Your Response : A (Correct)

Question No. 46
Keeping the potential difference constant, the resistance of a circuit is doubled. What happens to the current?
A)lt becomes one-fourth B)It gets doubled
C)lt becomes four times D)lt gets halved

fAeTaieR T RN 1@ gU, T IRIY 1 GRS Y T STl dr URT W T 9o §e?

AT TS g1 S B)aRI=T & Sl
C)aR =1 g1 Srwaiy D)31efr gr Sireefr
Answer Key : D Your Response : D (Correct)

Question No. 47
In which of the following countries was the 21st FIFA World Cup-2018 held?
A)Brazil B)Russia
C)Spain D)Argentina

Afaf@d & ¥ T 3 & 219 FIFA g #9-2018 &1 3RS g3?
INEIEIC] B)&H
C)&dsT D)3t AT

I p———— 1 P P A i S e My e s | T




Find the ODD one out from the given options.
A)NPR
C)EGJ

R aTT Reedt ¥ & I
A)NPR

C)EGJ

Answer Key : C

Question No. 48

B)LNP
D)UWY

B)LNP
D)UWY

Your Response : C (Correct)

Question No. 49

Where is India's first hi-tech forensic lab, which was recently inaugurated, located?

A)Mumbai
C)Kolkata

B)Delhi
D)Chennai

AR Y el e PRI A, e grer € ¥ Seures g3 ¥, Tl Y 87

AFTS
C)ahlerertar

Answer Key : B

Ethane, with the molecular formula CoHg has-
A)9 covalent bonds
C)7 covalent bonds

e, FT AT T CHg & 3 swar
A)9 FgEIST aE
C)7 Tgads sy

Answer Key : C

All noble gas molecules are-
A)Diatomic

C)Polyatomic

welt 3t A 31 gl &l
A)Efa AT

C)agm AR

R-Y 9

Answer Key : B

B)fewelr
D)JeTs

Your Response : Not Answered

Question No. 50

B)8 covalent bonds
D)6 covalent bonds

?Ia &l
B)8 wgadiell
D)6 TgadIeir aer

Your Response : C (Correct)

Question No. 51

B)YMonoatomic
D)Tri atomic

B) USHURHATIIE

D) WRATIS
Your Response : A (Wrong)

Question No. 52

When did Chernobyl nuclear disaster take place?

A)1986 B)1990
C)1982 D)1984
A)Y1986 e e G R e e e I =) —




Answer Key : A Your Response : D (Wrong)

Question No. 53
Which of the following IIT's students have developed a mobile-app to detect fake currency notes in 2019?
A)IIT Bangalore B)IT Kharagpur
C)IIT Madras D)IIT Palakkad

RArfaf@a & & 7 IT & oTET o 2019 F Fhell slel & Il o9l F AT U A9 Asfaa BFmr 82

AT SaTeliy B)IIT @sarqe
T =TS D)IT UTeleg
Answer Key : B Your Response : Not Answered

Question No. 54

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
Any student who does not behave properly while in school brings bad name to himself and also for the
school.

Conclusions:
l. Such student should be removed from the school.
Il. Strict discipline does not improve the behavior of the students.

A)Neither conclusion | nor |l follows B)Both conclusions | and 1l follow
C)Only conclusion | follows D)Only conclusion Il follows

30 WA A, TF FU 3R 38 o sy RBw 7w 1 397 () = 9o S aiffr w7 & w9 3ugEd B

S

TR # 8% W SYGER o He dTell B I R el HT AH TG4 T ¢

IGA=O R

. X B F el A fAehrer =1 AfRTI

Il. 3T ITRAMT BTl F SYTGR H e GUR Feell|

A)T o forsshy | 3R o g |l 3ugd § B)fesany | 3R Il gt 1 3ugE €
C)dhaer forsehy | 3Uged gl D)dael forsehy || 3uged g
Answer Key : A Your Response : C (Wrong)

Question No. 55

If|-4x +4[-6 = -6,rtb.e.n.ﬂn.d.tb.eJLaLue_of X',
it T——— R

e RN e e o7 . | T




C)1 D)0

Ifg |4x + 4] - 6 = -6 §, d@F X & A AT HfaC]

A)2 B)-1
C)1 D)0
Answer Key: C Your Response : C (Correct)

Question No. 56
are segmented stem that grows horizontally underground.
A)Tuber B)Rhizome
C)Sucker D)Bulb

T o (segmented stem) § St §fA & 3T afasr fzm #F sga

A)TTsT B)usshA
C)37el: HFARY (Sucker) D)&e
Answer Key : B Your Response : Not Answered

Question No. 57
To get a virtual, erect and enlarged image behind a concave mirror, where should the object be placed?
A)Between pole P and focus F B)At the centre of curvature C
C)At focus F D)Between centre of curvature C and focus F

Jrader gyor % WIS e, e 3R smaftia wiaRT woT wa F A, e B wel W@ S aiRe?

A)ga P 3R wled F & o B)dshdl g C WX
C)whd F o D)ashdl Fg C 3R wied F & &g
Answer Key : A Your Response : A (Correct)

Question No. 58

Find the missing number in the series.
21, (...), 22, 36, 23, 37

A)21 B)35
C)22 D)32

Arfaf@a Jofr & quitya @& A Rl

21, (...), 22, 36, 23, 37

A)21 B)35
C)22 D)32
Answer Key : B Your Response : B (Correct)

Question No. 59
The conversion of liquid state into solid state is known as-
A)Evaporation B)Freezing
C)Sublimation D)Vapourisation

a9 OEAT A O I e e ey / -



C)3equTde D)aTsdiahioT

Answer Key : B Your Response : B (Correct)

Question No. 60

The Indian Constitution has been divided into ___ parts at the time of commencement.

A)22 B)25
C)16 D)24

SR AR ¥ IR F TAT, 30 et # fasnfara fomar arar o
A)22 B)25

C)16 D)24

Answer Key : A Your Response : Not Answered

Question No. 61
Which of the following is WRONGLY matched?

A)Sodium carbonate — washing soda B)Calcium carbonate — slaked lime
C)Sodium hydroxide — caustic soda D)Sodium chloride — common salt
frafaf@a & & Fia a1 A7 39T 87

A)TIETA FElIe - 9TgeT sr B)Wmmaﬁt-gwg&nqm
C)AIf3TA gISgIFASS - HIfecsd AIST D)T3UH FeiRISS - TATUROT AHH
Answer Key : B Your Response : B (Correct)

Question No. 62

After the death of which prime minister did Gulzarilal Nanda take over as the acting prime minister for the

second time?
A)Indira Gandhi B)Charan Singh
C)Jawaharlal Nehru D)Lal Bahadur Shastri

e wereEEr T g & §1g I[eeINieTel AeT A gEl IR HdEH TUEHA F T H YSHR HHIA?

A)ZTeRT amiefr B)=Rvr &g
C)STaTgeliel #g® D)elTel SgTeY ATEHT
Answer Key : D Your Response : A (Wrong)

Question No. 63
Lactometers, which are used to determine the purity of sample of milk, works on which principle?
A)Archimedes principle B)Principle of scalar chain
C)Principle of periscope D)Principle of potentiometer

AFAIT, S Y F T Fr Ygar AURT = F fAv 3w fear sar 8, e Rgia W wET war 2

A)nfEHRSe & B B)3tfeer @ & fAgic
C)aRERT & g D)fasaaATdy & f&gid
Answer Key : A Your Response : A (Correct)

Question No. 64
A chord of length 8 cm subtends an angle 60° at the centre. What is the radius of the circle?
A)8 cm B)4 cm

0)6 cm O p——— P P A Ny P s MOy et s | T




8 {T TS #Y U SiaT Fr W 60° FT FIOT A §, o HT AT F AT AT FraM?

A)8 JF B)4 Jafr
C)6 T D)12 ¥
Answer Key : A Your Response : A (Correct)

Question No. 65
A number, when 35 is subtracted from it, reduces to its 80 percent. What is four-fifths of that number?
A)90 B)120
C)70 D)140

S UF &I H ¥ 35 U ST &, of 98 "] 69 @ 80 YAk @ Il ¥ 39 & & 4/5 AT 4 r
gremr?

A)90 B)120
C)70 D)140
Answer Key : D Your Response : D (Correct)

Question No. 66

Which number will best complete the relationship given below?

2:3:23:7
A)29 B)25
C)27 D)31

FieT W FE&r A R a1 deer @ @ e & ot s

2:3:23:7

A)29 B)25

C)27 D)31

Answer Key : A Your Response : A (Correct)

Question No. 67

In a data, sum of the deviations about the mean is always:

A)Zero B)Negative

C)Cannot be determined D)Positive

TRelr 3rirg #, AMeA(mean) ¥ R=re=T @1 AT AR aer Bl

AT B)#UTlcHeh

C)auTRa =gl forar ST Fehar D)&=TcHe®

Answer Key : A Your Response : D (Wrong)

Question No. 68

Varun walked 4.5 km towards south direction and turned right. After reaching 3 km, he turned left and walked

5 km. What is the distance he covered towards south?
A)8.5 km B)9.5 km
C)5 km D)4.5 km




A)8.5 Tt B)9.5 Rref
C)5 famslr D)4.5 fasir

Answer Key : B Your Response : B (Correct)

Question No. 69
In a certain code, 'TRIPPLE' is written as 'SQHOOKD'. How is 'DISPOSE' written in that code?
A)CHRNORD B)CHRONDR
C)CHRONRD D)CHRORND

v fafaa Fewrwr &, 'TRIPPLE' & 'SQHOOKD' faw@r Sirar 1 3% gesmsr & 'DISPOSE' #r &% forar
SITQa?

A)CHRNORD B)CHRONDR
C)CHRONRD D)CHRORND
Answer Key : C Your Response : C (Correct)

Question No. 70

A boatman goes 2 km upstream in 1 hour and 1 km downstream in 10 minutes. What is the speed of boat in

still water?
A)4.5 km/h B)3 km/h
C)2.5 km/h D)4 km/h

T aifaw a7 & Rl R F 2 el fr g 1 6 #F o aar € 3tk arr A feew 7 1 R A ogdr 10
feTe & T ST B1 AT Sef F @ Y AT AT PfIC]

A)4.5 Tra/eEer B)3 ferafi/eier
C)2.5 ferefieer D)4 ferafi/eer
Answer Key : D Your Response : D (Correct)

Question No. 71

Which of the following group of alphabets will best complete the relationship given below?

BH:JP:FK:?
A)OT B)MS
C)NT D)NS

fArfaf@a & ¥ =i & 3R Iow A T v d@e6er # @@ a@F § qor Her?

BH:JP ::FK:?

A)OT B)MS
C)NT D)NS
Answer Key : D Your Response : C (Wrong)

Question No. 72
A tank gets filled by a pipe in 2 hours. But due to a leak, it takes 30 more minutes to fill the tank. How long will
it take a full tank to get emptied by the leak, when the pipe is closed?
A)10 hours B)2 hours 45 minutes

~E L = p———., e e A NI e e Sy e =y | T




THh &F UF UIRT ¥ 2 €& 7 W 1 g1 v v RAE & #Ror, &F #F e # 30 fAqe 3fts w1
UsY & d§¢ g9 W, 39 RuE @’ &F F Q@ @relt g 7 e @ @

A)10 g B)2 ¢ 45 fAac
C)5 T D)2 = 30 fiee
Answer Key : A Your Response : D (Wrong)

Question No. 73
Which of these square numbers cannot be expressed as the sum of two prime numbers?
A)81 B)49
C)121 D)144

o1 A FieT WY T TE&AT FT & ST HEABIT & AT F T 7 qFd 81 AT ST FohelT 87

A)81 B)49
C)121 D)144
Answer Key : C Your Response : Not Answered

Question No. 74

Find the ODD one out from the given options.

A)BREATH : ERBHTA B)FIGURE : IFUGER
C)RUGGER : GURREG D)PARROT : RAPTOR

R aTw Risedt 3 ¥ I T

A)BREATH : ERBHTA B)FIGURE : IFUGER
C)RUGGER : GURREG D)PARROT : RAPTOR
Answer Key : B Your Response : B (Correct)

Question No. 75
Which metal can be displaced by copper from its salt solution?
A)Copper B)Zinc
C)Aluminium D)lron

did T $Hb AT & Hid W A a1q G@RT Awaa R S oaedar 87

A)dieT B)StEdar
C)vegH=as DEI]
Answer Key : B Your Response : Not Answered

Question No. 76

Choose from the alternatives the figure that best completes the

pattern given below.

O p——— P P s (N P s Moy =y | T



A EN

D)

=N =N

few a7v el # ® 98 Apla g4, AT A T AT ST PO e

v

2l

A) B)

) D)

Answer Key : C Your Response : C (Correct)

Question No. 77
The product of two numbers is 9375. The quotient, when the largest number is divided by the smallest
number is 15. Find the sum of these numbers.
A)395 B)380
C)400 D)425

ar WEASH FT OB 9375 ¥l T WA TP HEAT F T S wowr ¥ Renfaa frar Swer g, o swerder
15 WIod i &1 37 §E&A3T T AT AT hfaw]

A)395 B)380
C)400 D)425
Answer Key : C Your Response : C (Correct)

Question No. 78

Find the missingfrequency 'x' in this data, given that the arithmetic
meanis 28.

Profit % 0-10 | 10-20 | 20-30 | 3040 | 40-50 | 50-60

K]
=1
<

H
=1
9]

No. of shops 12 18




TH 3he H HGIRRUd TRARAT 'x' R A HY, G T § R
FHATTAT AT 28 Fl

oIt % 0-10 | 10-20 | 20-30| 30-40 | 40-50 | 50-60
3 mﬁ 12 18 27 X 17 6
A) B)
20 24
0) D)
15 12
Answer Key : A Your Response : Not Answered

Question No. 79
Ramya walked eastwards and turned to her left. She turned right two times. Which direction is she walking
now?
A)South west B)South
C)East D)South east

W1 q@ Hr 3R Ferchr § 3R 3r9e 918 3 Az Sl §1 9 & aW g1 3K el ¥ a7 3w B Rwm & wer
W@

AT afas B)gfaror
C)gd D)afaT o
Answer Key : B Your Response : B (Correct)

Question No. 80
P does half as much work as Q. R does half as much work as P and Q together. If R alone can finish it in 40
days, then all of them together will finish the work in how many days?
A)15 B)30
C)20 D)40/3

P, Q & 3mer I Far &1 R, P 3R Q A&l & Fer T Fr Jorem 7 3Mer FH HAr ¢ ARG R, I3H 3/ 40
it 7 T W T e |

T



C)20 D)40/3
Answer Key : D Your Response : Not Answered
Question No. 81
Which of the following states inaugurated a web portal 'Banglar Shiksha' for school students in 2019?

A)Rajasthan B)West Bengal
C)Tamil Nadu D)Arunachal Pradesh

fArfaf@a & & g Uo7 F 2019 & wpell ol & AT AR REr a@w a9 e Fr PR Far?

A) ST B)ufeaH S31rer
C)daffrerarg D)371%0Tael Teer
Answer Key : B Your Response : Not Answered

Question No. 82

1} +1}
Simplify: -4 2
1 9
—+1-—
15 10
A) B)
3 2
0 D)
o 4
y 11 —li
W 2
1 9
— 41—
15 10
A) B)
3 2
C) D)
o 4
Answer Key : C Your Response : C (Correct)

Question No. 83

The hormone thyroxine is commonly known as-
A)T3
CPTH




gl YRR T AEIa: &gl Sl Bl

A)T3 B)T4
C)PTH D)TSH
Answer Key : B Your Response : Not Answered

Question No. 84

Adipose tissue stores -

A)Carbohydrate B)Protein

C)Fat D)Adrenalin

R s T HIE A §

A)arsifgrgse B) W&

C)aar D)ufdsTeleT

Answer Key : C Your Response : C (Correct)

Question No. 85
is an active form of vitamin A.
A)Retinol B)Niacin

C)Riboflavin D)Pyridoxine

_ [yt A @ atea w9 8

A)feaATer B) feranaet

ONECIETIEE) D)uraREIfFasT

Answer Key : A Your Response : A (Correct)

Question No. 86
If in a certain code, 'HEAVY" is written as 'ICBTZ', then how will 'QUICK' be written in that code?
A)RSJAL B)OSJAL
C)RSKAL D)RSAJL

I v fAREd gesmr #, 'HEAVY' 1 ICBTZ' fa@r &irar §, ar 38 fesmr & 'QUICK &t & farar smeem?

A)RSJAL B)OSJAL
C)RSKAL D)RSAJL
Answer Key : A Your Response : A (Correct)

Question No. 87
The outermost layer of skin is called-
A)Epidermis B)Cutin
C)Dermis D)Keratin

TaET T EIdH U PN FAT Hgl oIl g7

INEEET: B)agfeat
C)sfaw D)aIfeeT
Answer Key : A Your Response : A (Correct)

Question No. 88

The possibility of fraternal twin occurs -

A)At fertilisation st



ST Sat e T HHE g B

A)feSeT e # B)gIAS e H
C)fe¥Te & a1 D)ITHYRTT & FAT
Answer Key : A Your Response : Not Answered

Question No. 89

Prayagraj Kumbh Mela 2019, entered Guinness Book Of World Records for the-

A)Largest sanitation drive B)Largest painting exercise of public sites
C)AIl of the options D)Largest crowd management
YARRIST $87 Ael 2019 F &, & fAv Felsr g% 3ife ae8 Rl & o far o

A) TSR T TaTodT A B)WTdeifer Tuel &7 4TEeT T wed aar
C)gatd & wair D)edr 815 & efereT

Answer Key: C Your Response : C (Correct)

Question No. 90
Which of the following states is the largest state in India in terms of area?
A)Gujarat B)Karnataka
C)Maharashtra D)Rajasthan

A% & AMUR W FFT & F FioT A1 ART FT G9H 937 T5T 87

A) TSI B)&slcadh
C)AgRISE D) EAT
Answer Key : D Your Response : D (Correct)

Question No. 91

Which number will best complete the relationship given below?

27 :16::125:7?
A)34 B)36
C)30 D)32

Fher A HE A Rw AT F B T A &

27 : 16 :: 125 : ?

A)34 B)36
C)30 D)32
Answer Key : B Your Response : B (Correct)

Question No. 92

- p—— P P G A (e s s MOy (R =) |



Read the following information carefully and answer the question given below.

Eight friends— A, B, C, D, E, F, G and H are sitting around a circular table facing the centre. Each one of
them likes different brands of ca—Swift, Indica, Polo, Volvo, Audi, BMW, Maruti and Kwid, but not necessarily
in the same order.

A sits third to the right of the person who likes Kwid. A does not like Polo. E is not an immediate neighbour of
H. C sits on the immediate right of the person who likes Polo. Neither A nor H likes Audi or a Indica. The
person who likes Audi is not an immediate neighbour of the person who likes Kwid. The person who likes
Swift sits second to the left of E. The person who likes Swift is an immediate neighbour of the both persons
who like BMW and Maruti. Person who likes Maruti sits third to the right of B. B does not like Audi. F is not an
immediate neighbour of A. G is not an immediate neighbour of the person who likes Swift. Only two people sit
between the person who likes Maruti and H. The persons who like Audi and the Indica are immediate
neighbours of each other.

Which of the following is TRUE with respect to the given seating arrangement?

A)E sits to the immediate left of the person who likesB)F and D are immediate neighbours to each other
Kwid

C)The persons who like BMW and Indica areD)G sits second to the right of D

immediate neighbours to each other

Arfaf@a IR H SO @ 9¢ 3R AT Br ov e # 3R &I

s fF- A, B, C, D, E, F, G 3R H T geamR &1 & IRt & Fg A 3 g w0 33 §1 307 & v+
F AT 37T 5 & FW AW - Fawe, $f3a, oeh, e, 30, forssey, ARl ik Fas v &, afewT
ST sTer for 34T % H @l

A, s §is T A a1 FEd F g IR A TR W T §1 A il §is qHg e gl E, H #
AT P a I C 3T AR F ST N YT e A e iz G AT Bl T AT AR T & H =7
3T I SR s wog §1 o <afda @ 30 iz Wig §, 9% 39 cafed @ ecad e 798 §, S Fas
33 g Far ¢l O safdd #r Rave i3 wg 8, 98 E & 1% 3K g §E W da1 g1 ot aafda Rawe
Sis T T §, ¢ NeASsey IR ARIT 5 T Fe alel el sqfFadl F fheddn 99/l §1 s afd
AT s WG AT § 96 B & g5 3R IR T W ST &1 B &Y 37 §is qwg &7 &1 F, A & Feheas
R A8 &1 G 39 cafFa o Adean PR A § S Rave sz 96 R § AR §i7 Wig S arer
fFa 3R H & &g Faer & afFa 88 §1 3@ 3R R is g FE o AT @ gEy F Reead
g gl

& ¢ St it suEE F Hav F Pl F ¥ T o a2

A)E, f@as §is 98T %1 drel giadd & & ars 3IRNB)F 3R D T gl & fsheds wsiar §1
dr Bl

C)diuaAssey 3R ST §s qdHg el dlel © THD)G, D & &8 3N gEY T W 37 &

= X S | 1 ne

A= ] T



Question No. 93

Yamuna and Gomati are the tributaries of river-

A)Mahanadi B)Godavari

C)Krishna D)Ganga

T 3R A ey $r HerIF et ¢

A)FGTET B)dmierady

C)gpsom D)afam

Answer Key : D Your Response : D (Correct)

Question No. 94
A precious crystal piece worth Rs.15600 is accidentally dropped and was broken into three pieces, their
weights respectively proportional to 2, 3 and 5 units. Value of the crystal varies directly as the cube of its
weight. Calculate the percentage loss in the value.
A)Y25% B)75%
C)84% D)16%

.15600 & e arell T Herch 91 eeh § A amw 3 O gst & g o, o aoie e 2, 3, 5
SHEAT & U F A AT F A, WY IHF ToA F UA F WY FEAN ¢| HeF # g v gifr Hir orer
|

A)25% B)75%
C)84% D)16%
Answer Key : C Your Response : Not Answered

Question No. 95
The element, which has zero electron affinity in the 3rd period is-
A)Al B)Ar
C)s D)P

ag acd PisT AT §, T Y A 7 soelar dudar g ekl 82

AAl B)Ar
C)S D)P
Answer Key : B Your Response : B (Correct)

Question No. 96
A 270 m long train running at a speed of 120 km/h crosses another train running in opposite direction at the
speed of 80 km/h in 9 seconds. What is the length of the other train?
A)280 m B)240 m
C)260 m D)230 m

120 Thei/eeT Y O ¥ Toler drell 270 FeT ey Yoy, 80 fhefifger fr otar ¥ RAulid Rem & o= arelr
I YOS Y 9 Wehe A IR Il & q@dr ORI iy oieg T 87

A)280 #Hex B)240 #Hrex
C)260 HIeX D)230 Hex
Answer Key : D Your Response : D (Correct)

T I 1 S e e GRA T ELy L | -



A)ln parallel B)In line
C)In series D)Across

o Rigat & A deder # AT & R TR GROR 3 AT F H ST S 82

A)FATAIR A H B)dfed &
C)Aufisha & D)ushrg (Across)
Answer Key : A Your Response : A (Correct)

Question No. 98
A is now 9 years older than B. In 10 years, A will be twice as old as B was 10 years ago. Find the present age
of A.
A)39 B)23
C)36 D)48

A & AT 3 B @ 9 aY IHfUF §1 10 a¥ a1g A #r 317, 10 a¥ g4 B T 3G T QT @ Sean| A dr

TIART 3 el 82

A)39 B)23

C)36 D)48

Answer Key : D Your Response : D (Correct)

Question No. 99
What are the three main lubricants used in moving parts of a machine?
A)OQIl, rubber, adhesives B)Grease, resins and sandpaper
C)OIl, grease, graphite D)Graphite, sandpaper, resin

el wreler & arforelier gt & vt it &7 wigs Flr F 2

AT, TR, i B)afw, Yote 3R AT
C)dd, 4, JwET D)Iwise, JITATe, IteT
Answer Key : C Your Response : C (Correct)

Question No. 100

Read the following information carefully and answer the question given below.

Eight friends— A, B, C, D, E, F, G and H are sitting around a square table in such a way that four of them sit
at four corners of the square while four sit in the middle of each of the four sides. The ones who sit at the four
corners face the center while those who sit in the middle of the sides face outside.

A, who faces the center, sits third to the right of F. E, who faces the center, is not an immediate neighbour of
F. Only one person sits between F and G. D sits second to the right of B. B faces the center. C is not an
immediate neighbour of A.

Who among the following sits opposite to A?
A)D B)F
C)E D)B

O p——— P P s (N P s Moy =y | -



Ffaf@a IRt & e & 9¢ 3R T Qe 710 e Fr 3ew &I

3 - A B, C, D, E F, G 3R H e ToihR AT & IRT 3T 39 96K & & @& 397 @ IR TR A
& IR Pl W IS § TafF IR T@3F omsi & & F I3 §) S &er 9] Bt | IS T I AN g
R gu €, S Sir sfemsit & dra &7 95 § 9 T 7 3R 7E FRY g

A, Sir &g 1 3R AE FY §U §, F $ a9 3N e T W 91 81 E, o Fg A AN Hg A g R, F
fAseas g9l @it &1 F 3R G & i Shaer vk afd ST §1 D, B & & 3R @ VI | a7 &1 B &g
#r 3N e R gU B C, A F1 Fiwreasr agdr a7t 2

Arafaf@a & & Fla A & wFa dor 872

A)D B)F

C)E D)B

Answer Key : A Your Response : D (Wrong)
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